
SAP ABAP table V_JSBW_RETURN {Generated Table for View}

V_JSBW_RETURN

MANDT [CLNT (3)]

VBELN [CHAR (10)]

GPAG [CHAR (10)]

JPARVWGPAG [CHAR (1)]

AUART [CHAR (4)]

AUARTGRP [CHAR (1)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

REMDATUM [DATS (8)]

REMSCHEIN [NUMC (6)]

IVWDATUM [DATS (8)]

POSNR [NUMC (6)]

POART [CHAR (2)]

KUNWE [CHAR (10)]

LANDE [CHAR (3)]

LAND1 [CHAR (3)]

DRERZ [CHAR (8)]

PVA [CHAR (8)]

IVWKN [CHAR (8)]

LIEFERART [CHAR (2)]

DRUCKEREI [CHAR (4)]

REMART [CHAR (1)]

REMWEISE [CHAR (1)]

VKBURZUS [CHAR (4)]

POSNR_MAIN [NUMC (6)]

POSNR_SUB [NUMC (6)]

ETENR [NUMC (4)]

BEZPER [CHAR (5)]

ETART [CHAR (2)]

ETMEINS [UNIT (3)]

VAUSGB [CHAR (10)]

JDTDRER

MANDT [CLNT (3)]

DRERZ [CHAR (8)]

 V_JSBW_RETURN-DRERZ = JDTDRER-DRERZ 

0..N

{0,1}

JDTPVA

MANDT [CLNT (3)]

DRERZ [CHAR (8)]

PVA [CHAR (8)]

 V_JSBW_RETURN-PVA = JDTPVA-PVA 

0..N

{0,1}

JDTVAUSGB

MANDT [CLNT (3)]

VAUSGB [CHAR (10)]

 V_JSBW_RETURN-VAUSGB = JDTVAUSGB-VAUSGB 

0..N

1

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 V_JSBW_RETURN-GPAG = JGTGPNR-GPNR 

0..N

1

 V_JSBW_RETURN-KUNWE = JGTGPNR-GPNR 0..N

{0,1}

JKAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 V_JSBW_RETURN-POSNR_MAIN = JKAP-POSNR 
0..N

{0,1}

 V_JSBW_RETURN-POSNR_SUB = JKAP-POSNR 0..N

{0,1}

T000

MANDT [CLNT (3)]
 V_JSBW_RETURN-MANDT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_JSBW_RETURN-DRUCKEREI = T001W-WERKS 
0..N

{0,1}
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 V_JSBW_RETURN-LAND1 = T005-LAND1 

0..N

{0,1}
 V_JSBW_RETURN-LANDE = T005-LAND1 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 V_JSBW_RETURN-ETMEINS = T006-MSEHI 
0..N

{0,1}

TJAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 V_JSBW_RETURN-AUART = TJAK-AUART 

0..N

1

TJAP

MANDT [CLNT (3)]

POART [CHAR (2)]

 V_JSBW_RETURN-POART = TJAP-POART 

0..N

1

TJD09

MANDT [CLNT (3)]

BEZPER [CHAR (5)]

 V_JSBW_RETURN-BEZPER = TJD09-BEZPER 

0..N

1

TJEP

MANDT [CLNT (3)]

ETART [CHAR (2)]

 V_JSBW_RETURN-ETART = TJEP-ETART 

0..N

1

TJI01

MANDT [CLNT (3)]

IVWKN [CHAR (8)]

 V_JSBW_RETURN-IVWKN = TJI01-IVWKN 

0..N

{0,1}

TJV01

MANDT [CLNT (3)]

LIEFERART [CHAR (2)]

 V_JSBW_RETURN-LIEFERART = TJV01-LIEFERART 

0..N

{0,1}

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 V_JSBW_RETURN-VKBURZUS = TVBUR-VKBUR 

0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 V_JSBW_RETURN-VKGRP = TVBVK-VKGRP 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 V_JSBW_RETURN-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 V_JSBW_RETURN-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 V_JSBW_RETURN-VTWEG = TVKOV-VTWEG 

0..N

1

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 V_JSBW_RETURN-SPART = TVTA-SPART 

0..N

1


